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QUESTION 1

While analyzing the business requirements, you identify some cross-cutting functionality that does not carry any
business context or have an affinity to any specific application. To which service layer classification does the Service
you develop to fulfill this requirement belong?

A. Connectivity Service

B. Data Service

C. Business Activity Service

D. Utility Service

E. Presentation Service

Correct Answer: D

QUESTION 2

You have identified an existing Service that you would like to re-use. You need to submit a Service consumption
request. Which two items are most appropriate to put into the request?

A. Data that you want to consume from the Service

B. Expected load that you will put on the Service

C. Expected usage profile, such as days of the week or hours in the day
D. Type of client that will be connecting to the Service

Correct Answer: BC

QUESTION 3

When considering the interface design for an enterprise-wide Service you have been guided by the SOA Reference
Architecture to consider a document style data format first. Why is that?

A. Large amounts of data can be exchanged with document-style interfaces.

B. This will provide the greatest opportunity for re-use from the widest possible number of consumers.

C. Document-style interfaces provide for tight coupling between consumers and service providers.

D. Document-style interfaces tend to be quite fine-grained so that they can be re-composed in innovative ways.
E. Document-style interfaces provide for tight coupling between consumers and service providers.

Correct Answer: C
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QUESTION 4

Whenever an account is past due, the billing system will post an "account past due" event message to a JMS queue.
How is the event handled in the service-oriented integration architecture?

A. The Business Process layer In the architecture listens for and handles the event.

B. The Mediation layer in the architecture listens for the event and then routes the event to the appropriate SOA
Service.

C. There is a JMS listener for each layer in the architecture, so each layer In the architecture Is responsible for handling
events as appropriate.

D. The architecture does not support events generated by a back-end system.

E. The Data Movement layer in the architecture is used to detect and handle events generated by the back-end
systems.

Correct Answer: D

QUESTION 5

You are a developer working on a Service implementation and you notice that there may be an opportunity to make use
of another external Service to deliver your implementation. What steps should you take to make use of that Service?

A. Incorporate the Service using its published interface and inform the governance board when the project is finished, so
as not to delay the delivery schedule

B. Create a second instance of the Service for your purposes so as not to affect the capacity of the current Service
C. Gather the re-use justification and present it the SOA governance board and wait for s/gn-off of your new design

D. Bypass the published interface and call the implementation of the other Service directly so as to reduce the latency of
calling this Service

E. Copy and paste the implementation code for the second Service to expand the implementation of your own Service,
so reducing latency to a minimum and creating a composite Service

Correct Answer: D

Latest 170-475 Dumps 170-475 PDF Dumps 170-475 VCE Dumps

Latest 120-475 Dumps | 120-475 PDF Dumps | 120-475 VCE Dumps 3/3


https://www.passapply.com/1z0-475.html
https://www.passapply.com/1z0-475.html
https://www.passapply.com/1z0-475.html
http://www.tcpdf.org
https://www.passapply.com/1z0-475.html
https://www.passapply.com/1z0-475.html
https://www.passapply.com/1z0-475.html

